
×yëÞ.O�Ï×.� ^£�Ù�(×) ?�×

��^�C` �102O10`28^10:10–12:00 >/�?Z*

Ï1-4Þ&155, Ï5-6Þ&205, �b�M»6!î�

1. 'Ω = {a, b, c, d, e},
(i) �¶��â{a}, {b, c}, {d, e}�t�σ-�F�
(ii) �3(i)��Fî, �L×^£ÐóP , ��P ({a}) = 0.2, P ({d, e}) = 0.5�

2. 7VÞ2ÑÝ{��E×ü�Ýi, i ∈ {1, 2, · · · , 6},
(i) �JFóõ
7, �Ï×9{��¨Fói, Þ¯�}ñ;

(ii) �¾\Fóõ�
7, �Ï×9{���¨i, Þ¯�ÎÍ}ñ�

3. bA,B, CëG�, Í�×G�¡b_�, ¨ËG�¡&©b×�
~, ¯ó�×
G�, �'ÎA, x¹ßÆ�B, C�Ý×G�, �'ÎB, s¨�¡Î
~, ®¯�
��?;óCC�? x¹ß��]PAì�	B, CÞG�¡, b×
_�, x¹

ß-Æ��¡P_�Ý£G�; 	B, CÞG�¡/

~, x¹ß|pÝ^£Æ
�B�, |1− pÝ^£Æ�C��
(i) �O?;óC¡ÿÕ_��^£�
(ii) �®?;��?;óC, ¢ïÿÕ_��^£´�?

(iii) �®p
¢Â`, �?;óCÿÕ_��^£t�?

4. �O×ðóc, ¸cg(x), x ∈ R, 
×p.d.f., Í�

g(x) =





−xex, x < 0,

x3e−2x4
, 0 ≤ x < 1,

1

1 + x2
, x ≥ 1�

5. 'r.v. X�p.d.f.


f(x) =





1

2
ex, x < 0,

1

4
, 0 ≤ x < 2,

0 , x > 2�

(i) �O�X�d.f. F (x), x ∈ R�
(ii) �0F�%�, ¬�J(i)��F@
×d.f.�
(iii) �OP (X ≤ 1)�
(iv) �OE(X)�
(v) �OE(X2)�



6. 'X�p.d.f.
f(x) = 1
2
e−|x|, x ∈ R��Y = |X|3�

(i) �OY�p.d.f. g(y), y ∈ A, ¬��A�

(ii) ��J(i)��g(y), y ∈ A, @
×p.d.f.�

(iii) �OE(X)�

(iv) �OE(X2)�


